5308 £ERRILEFHERR

—RE D &R

—EIEE7HRER

Sm:

68 A

2025/08/24 17:20:24

BB 28 A

COEDBEBEIL, FRFE2/TT . 16BF300 E CIERERATICH_L

<FEEby,

IEf #ER €v7r K&

RL-mE &

1 % 1667 =Em 2%a 290 — 2z 29
1 % 1679 %% % 25N 1 i 29 5
3 & 1638 Fu'lh 29[ — 91z 26
4 L 1671 %/”50]3, %ﬁi 2706 —#% 104z 24
5 4 1620 iz &z T B — A 19 po
6 L 1649 %m = Tt — Aot 14
7 % 1662 BR sy KR 13
8 M 1597 [ W RER 10
8 &L 1608 % @% i 10 po
8 o 1627 Hi = HER 10 o
8 & 1637 =i 5z SRR 10 1z
8 & 1687 gg sy mER 10 o
13 & 1606 %z F= P 9
13 & 1652 Zm i RER 9
13 % 1677 B & FER 9
16 %L 1604 Sim & ERH 8
16 &L 1605 k' haR 8
16 % 1651 jmm ma £ R 8
16 % 1657 24 Ehsx it — Aot 8
20 % 1609 k= KA T
20 % 1624 Fi 5% IR T
20 L 1626 X% Ha HER 7
20 & 1631 )i &R KIRAF 7
20 % 1645 x"zs AR 7
20 L 1672 X WA KIS T
20 % 1682 %Eﬂ &%:%E; FIE M3 1
27 % 1613 4n Fmz HER 6 i
27 & 1650 g sk KR 6
27 1602 5% o4t FER 6
30 1618 i @z RER 5
30 1621 5% = R 5 o
30 1666 2 “%— KR 5

—EEHFRE

1/3



5308 £ERRILEFHERR

—RE D &R

—EIEE7HRER

£N0:68 A

2025/08/24 17:20:24

BiA# 28 A

COMOEBEE. ERB2ATT . 16M307F CI_RABAI- B

f2Eby,

IEh #ER Ev7r K4

RL-mE &

LWhEY [N

33 1610 2 KB AT 4
33 1643 5w = KIGAF 45
33 1669 Hm 2= BER 4
36 1600 L neL B 3y
8 b .
36 1612 i = B 3
36 1684 5527 &% KIS 3
36 1685 %%% fﬁ;g HER 3
36 1690 Rem %2 B 3
36 1694 X5 miez KIRHT 3
42 1598 é&iﬁ% KIS 2
42 1623 53 E BERAF 2
42 1629 BEE) R ZE
fgfﬁa&xijﬁ = x
42 1647 Fm = KIRAF 2
fEEEIL Ux - =
42 1665 5 zim EHIR 2
42 1691 ’}E;}’}";'**';‘f;‘ RER 2
48 1603 =iz i ATULIR 1
48 1607 %Tﬁﬁ KIRRF 1
48 1611 32m & SUARRT 1
48 1615 e KBRA 1
48 1616 T & EHE 1
48 1617 B e .
e, ' :
48 1636 EEKE 5 B 4 EEER 1 oT
48 1640 %%)@j %Bf(lt EEER 1 oT
48 1648 % K EEE 1
48 1655 Z‘*Z‘%}f‘}?ﬁ KRR 1&
48 1664 & it RER 1
48 1688 rWES [F5F KRR 1
i e ‘ ;
60 1601 G52 1 eI 0
60 1619 ’;%E‘f% RER oi
60 1634 57 2% e 0
60 1642 5 B EER 0k
60 1658 Gl L& KRR 0

—EEHFRE

2/3



5308 £ERRILEFHERR

—RE D &R

—EIEE7HRER

£N0:68 A

2025/08/24 17:20:24

BiA# 28 A

COMDEBEX., BFRB2HETT ., 166300 = CI_ERAEAIH L

f2Eby,

IEh #ER Ev7r K&

RL-mE &

60

1660

BFE- OBHE

e[ PN et 0 e

60 1670 22 %5 B3R 0

60 1673 % &% R 0k

60 1676 fad° =51 K 0
—[EIE#ERE

3/3



